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. Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10

wors Framrz Fotpn e fl :

If A={aq b, ¢ and B = (1, 2, 3}, are they
equivalent sets?

(@)

I% A ={a b, ¢} s B={12 3 &, (AC147]
22l 1 Tl e ?



(2)

(b) Gi
) Ive an example of disjoint sgtsh'

fifozer sic=feq b1 Tt foa

(c) Is 2++/4) an irrational numbers
(2 ++/4) b1 wpeifRT FRaM =G 2
(d) Given t
en the function f(x) =
s b: ﬁnd the

derivative of F(2)-

f() = ax + b w=wBR f(xR o
T Bfraa |

(e) Find :
T efar zeay
23/4
21/4

()’ The
graph of the ;
rationgl fun ction ks c

o VERT,
I xy=c is known g X
S (exponential

graph /rectangular hyperbola).
j (Choose the correct option)
== Xy = ¢ FTHAIBR IR 3
S | (PR /ot
(o Revarcht 317 Tferaa)

22A/429
(Cofltinued )

(3)

(g Fird :
jesxdx

(h) Write a polynomial function of degree 4.

4wﬂﬁ]q’i¢{\?[w%‘ﬂ.‘l

(i) Write a null set.

<51 e Ticafe o

Find the second order derivative of the

0)
(% function y=7x -0,
¢ y=7x-9 TEmeE fow e S
Tfered |
o. Answer the following questions : 2x5=10
oo i 2rEd v i
Q from

a) Find the Cartesian product PX
the following sets :

afoq o1 IO [ PxQ

were Tl A
g = :
P={12, 3}
Q={xy
20A/429 ( TmaRver.



(5)
(4)

3. Answer any four of the following questions :

(b) If the domain of the function y.=10 +5x ° 5x4=20
is {x:2<x<4}, find the range of the WWW%@WWWW:
function.
iy y=10+ 5x W S\ e Fq (a) Verify the properties of union of sets by
(x:2<x<4} A, o3 FECOR g e taking numerical examples.
kIl meqmmqﬁaﬁaﬂ@ﬂ{iﬁ%m
<9
(c) Evaluate : (b)) Show that the following function is
fefy discontinuous at the point x=0 :
RIg IR
xh—9 s fa wesl =0 RO R g
ox 7
lim 15-3) G
! f9=1 x>0
@ =0, x=0
= _i, x<0
(d) 1f AR= & 30 and price elasticity of
demand is 4, find MR. oy 3y
Find —- d —Z for the followin
i AR= ¥ 30 we viwE T fEfewrel T .
4 =, (98 MR fasfy <41 | Fusabian & 01, +2Y=5
e Tl TR W Y e Y ey
0x; 0xo
() Examine whether the following functio? Lo
is convex or concave : | . S, +3
TS W FeICh] S (7 Twa, wArel I 5% -2
f(x)=x2 —4x -5
22A1429 ( Turn Over )
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(6)

il
(@) Find % of the function y = using the
dx x 7
definition of derivative.
SR T Al I y:l o Y
X

dx
flefy a1

() Find the relative extreme value

(maximum or minimum) of the following

function :
wTe ] wemgeE SCEE W YR (1w
1 ) e -
y=5x*-30x+15
1] Compute marginal productivity of

capital (MP,.) and marginal productivity
of labour MP,)at K =land L =2 for the
f011<-WVing production function where Q1S
Output, X is capital and L is labour :

0y, +2Ye=5
Q=3KL> +4K2L +2L +2K
VI PR Wﬂﬁmmﬁ%@%wﬁﬂa@
MPy) W g e Seomerel M7

ﬂwq,EQmi’Ff@@‘wﬁ,KW
T L ey w0y,

Q=3KL? +4K2[ 4oL +2K

e/ da9 ( Continued )

-

(7)

4. -Answer the following questions : 10x4=40

w7 fidl opped Ted il

(@ A monopolist demand .curvg is given b-y
p =100 -5Q where P is price and Q is
quantity demanded.
s Rearer T @1 @ P =100-5Q
= g’ P A @ T Q WA DR A

T, (S @

() Find the MR function.

MR o T 0

lish the relationship between

2 b
il R and MR curves.

slopes of A
AR =1F MR (T feq TR TE RO

341,

(iii) Find the price at which MR is zero.
2+4+4=10

MR =i 0 =, 7 e T

Or / F=[1

State and prove the product rule of

differentiation. 10
Siesn IR e fEfe frn e 2=
291\

22Al429 ( Turn Over)



(b) Derive the

(c)

22A/429

(8)

following relationship
Average Revenue * (AR),
Marginal Revenue (MR) and Elasticity of
Demand (eq) :

between

10
T® O (AR), oifgs W@ (MR) < 5ifswg

Fefow1e1oT Srerg wora 77aCH! SRR crgsa -
e, = AR
4" AR-MR
Or / &1
Given the demand and

average
cost function of a monopolistic firm

as P=32_3Q and AC=Q+8+%
TeSpectively, what level of output
Maximizes totg] profit? What are the
Corresponding values of TR, AR, MR, TC,
AC, Mc and profit? 3+1+1+1+1+1+1+1=10

AT GO et iR W oo T wer
A B mwm, P-32-30 wre

AC=Q+84+5 P S NA® @RE AR
) Q

TR AR R 2y G e *ffaere
TR, AR, MR, TC, Ac, MC w% #Te TFe |

() Derive the TC function from the

given MC function, Mc =3¢0-4,
when total fixed cost — 100.

( Continued )
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(@)

©

(9)

2f%F IR T, MC = 3Q - 43 *[1 ¥ 9
T (TC) Sfiem R @ R ww
100 =7 |

Find out the saving function, given

MPS=1-0-2 y1/3 with zero saving
when income y=125. S
g e A WOSWW Oy =125
. o afes  AEW e,
MPS = 1-0-2 g3 TR R e
wereep! faefd T

Or/ 9

In a market survey, 200 cc.)nsumer.s
were interviewed to give their
preference for two products X and

Y. Survey results show that
110 preferred product X and
120 preferred product Y. How many

of the respondents preferred both

X and Y? Draw a Venn diagram to s
show the result.

B TR FAFS P AR X T Y
o eua® 200 T S Bl
FICPR o N (R | AR Al
S5 @ 110 & (SR X D! A
120 & YW%WW‘W
e X o Y‘i‘mﬁmﬁqm?ﬁ@l'
ee] (rgCeT by (o7 fod S

( Turn Over)



(10 )

(i) Explain the concept of
Quassi-Convex and Quasi-Concave
function.

Tol-Sqen W Oo-Ted  TeRe YRR
e oy

(d) The total cost function of a firm is given

22A/429

by c=Q3 ~6Q2 +2Q +50. Find the Jeve]

of output at which the average variable
COst (AVC) js minimum. Also show that

AVC = Mc at that level of output. 7+3=10

W fbem P W T 4R
C=0%-602+20+50 |, (=@
TSR (avC) TRE e Sesm
M Shrer i o Beom AT

Evaluate - 2x5=10

( Continued )

(11 )

.5
(i), I(10x3 —x—12—2e +;de
() [xe *dx

(v) 9 5x2 +3x+2)°
dx

* Kk X

yYo@
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